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Example Question Set A. 
Nielsen TV Ratings 

 
 
1) For the week of August 14th, Game of Thrones had 10.24 million viewers.  What is the 
percentage increase in viewers for the week of August 21st? 
 
 
 
 
 
2) What is the ratio of people who watched Game of Thrones to people who watched the 
Giants/Browns pre-season game? 
 
 
 
 
 
3) There were 15,000 people in the arena for the WWE RAW live show.  Assuming no one 
present at the live show also watched the show on television, what percentage of people who 
saw the show saw it in person?  
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Example Question Set B. 
Sourced from https://www.cs.ny.gov/pio/publications/howtotakeawrittentest.pdf  
 
Base your answers to the next three sample questions on the table, "Summary Report of 
Business Expenses for 2009." Complete as much of the report as you need to answer the 
sample questions. Use the information given in the summary report itself and in the table, 
"Report of Business Expenses, 3rd and 4th Quarters."  
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4) What is the value of R? 
 a. $112,900 
 b. $128,600 
 c. $137,800 
 d. none of the above 
 
5) What is the value of S? 
 a. $  8,780 
 b. $15,060 
 c. $16,230 
 d. none of the above 
 
6) Which one of the following is closest to the value of V? 
 a. 10% 
 b. 11% 
 c. 12% 
 d. 28% 
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Example Question Set C. 
Sourced from 
https://www.cs.ny.gov/testing/test_guides/Account_Clerical_HigherLevel_TestGuide.pdf  
 
Base your answers to the following three questions on the information in the table below. 
 

 
 
7) How many people in the city were between 25 and 34 years old?  

a. 51  
b. 27,000  
c. 51,000  
d. cannot be determined from the information provided  

 
8) Most nearly what percent of the total population of the city was female aged 35 to 54?  

a. 5%  
b. 10%  
c. 14%  
d. 20%  

9) If 40% of the total male population of the city earns wages, and 30% of the total female 
population of the city earns wages, which one of the following statements comparing the 
number of males earning wages to the number of females earning wages is true?  

a. There are 24,500 more males than females earning wages.  
b. There are 27,300 more males than females earning wages.  
c. There are 51,800 more males than females earning wages.  
d. There are 27,300 fewer males than females earning wages.  

 


